Knowing that crank AB rotates about point A with a constant angular

velocity of 900 rpm clockwise, determine the acceleration of the pis-
ton P when 6 = 60°.

rev 21;"‘”’)( | M

“Wap = o0 =0 (Tev %o 5
P
zg—-\ - A
=141 "%
D 1.2 5
N Pt - M %

I
|
|
|
|
|
|
|
|
|
|

) (v
-

AKH V%-so....,s;noi +So mm (o056 4

\/ B = ’_33 . .

\ . D 1+2Sy mm
\ 50 mm aB:’q*-zz(‘l’.?"-r?.SJ)
S S.
==33tx1) —2.22X0); m"/:’

-

RV U I
o o -~ "‘}:Z o O
433 2 o | 453 2s

= 1t1 -zsi —1%1-%33;
:13551 "+°77J MM/
s

D ) > a = v
. V) = VB-|-w/<Vi;/B (>
D D
- + \
B b
Ve

w= 235 "%

V. —
r %
"
- ZBSS ISo ma,
|1S©o mm cos3|6.3 4 r
=lkF ,.,,c/s ¢L
éo°
B
, | A
B = 150 mMSinI6.3) 4|50 mm cos K3 i
= 439\ 4 143,40 bam 207  |Somm

-

sing sinfe

S‘]“/:Sih(bm

(SOmm
Z=143°
= - z

. J K P
XK X o, =6 o o o ©
B~ lgs4 1436 o | 934 193¢

—13lA i+ £33 AV

o S . s . :
Aot ==33#Xl0" 1 =2.22X10°) - 193,64k | tE3.940 - 162 ¢34
—16. 1419360

Op=-22X1°°+r%3 ¢0 —[¢at 143 ¢

- - S
O =-33Mxlo —1#3 (- |(,_4-"9.3.,_

- . -
Ap= -| ¢3x10°5 "M = a,




